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Instructions: ,
(2] A thwre fermé, Tout type de colowlatrices autorise
Clozed book. All types of calenlanors are allowed.
(L) Hépondre sur le questionnaire, [idponses numerigues dans les bofics
Answer on the question sheets. Fill-in boxes with numerical answers,

Les ¥ questions sont d’égale valeur. Le test est sur 680 ot ol 4 o 100 pomis de bone.

ANl T questions have Lhe same valus, The test i= on 60 and there is a bonus of 10
points,

() Donner Ie détadd de vos calouls. A
mhow all commputation. f

(o) Une fewlic eovlenwr de tablos seme disirahude,

A pue-pare table on colored paper will be distributec,
I Tous les angles sont on BADIANS, Tester et ajusier wotre calevlotrice.
All angles are in RADIAN measures. Test and adjust vour ealeulators.

Ain 1123456780 = (LO01601 12364453

Les 6 premiers polynomes de Legendre !
The first 6 Legendre polynomials: t
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Quadratures de GAUSS 4 £ et & 5 poinds
Two- and thres-pont Ganss quadranare formulac:
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g A t;m\z. Résoudrs le probitme 4 valeur dnitiale.

:: solve the initial wlue problam.
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Qu\ 3. Trvuwer lo solution sére de Uéguelion différentielie,

Find the series solution of the dillsrential squation.
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Qu. 4. Trowwar les trots lers cogfficients du développemend de Fourier—Legendre de f

Find the first three coeficients of the Fourier Legendre expansion of the function 7z
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Qu. 5(a) Evaluer Uintégrale par la quadrafar: goussienne & 5 poinis.

Evaluate the integral by Gauss’ three-point quadrature,

1.5
I=/ cos z° dz.
(2

Attention : Lev angles en rodians. [/ Angles in radians.
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Qu. 4(b) Trowver le rayon de convergence de lo 2érie,
Find the radius of convergencoe of the sones.
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(u. 6{a). Trouver les transformies de Laplace de f (Zl. !

Fiud the Laplace transtorms ol f{#). j i ;

Ft) = 3eosh 2t + 4 sin 5t
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Find Lhe inverse Laplace transforms of F{s)
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QE{ T. Adédsowudre le systéme donné por décomposnion de Cholesky T x = h
Solve the following 2ystem by Cholesky decomposition &3 x = b
B I T
(;‘.’Iﬁ = o — ?..2173 = —]
— Iy I D T _fl.T T |
—2%; Fdme + 1dmg, = —4
W e o] 90 Fs1 3n ) S o e
e Ez’—1!1 g a - t
o & A 3"51 l waz il ij 5- r"i \
R T PN TN 3 ] T
S A3y =% 9 1"
G,g h:;h - t 150 T
Syt S ® ) f‘:-:::-
3'554‘ } pINIh
1 o o] Baf Ty AT
3 . T - - , ®
G= |~ » @ Ja" 795,725 g 20
"";__ \ 3 63-%%_}%’3@&‘1*:‘1 ﬁ}}_; !
|- 7] i ?3Efﬂ&r}~?5?wm =2
ﬂ‘ | 3 Fin J'&EE_,:-'_{E
y= |7 Gy=b
-2 (o e XY 77 T
T ~f & 0 | ks ;JL
= | =
7 ‘7!? ® Hi
LT 4
> toyrE s

S
3?“3*’5 R = o s




